ghipsmall

Chipsmall Limited consists of a professional team with an average of over 10 year of expertise in the distribution
of electronic components. Based in Hongkong, we have already established firm and mutual-benefit business
relationships with customers from,Europe,America and south Asia,supplying obsolete and hard-to-find components
to meet their specific needs.

With the principle of “Quality Parts,Customers Priority,Honest Operation,and Considerate Service”,our business
mainly focus on the distribution of electronic components. Line cards we deal with include
Microchip,ALPS,ROHM, Xilinx,Pulse,ON,Everlight and Freescale. Main products comprise
IC,Modules,Potentiometer,IC Socket,Relay,Connector.Our parts cover such applications as commercial,industrial,
and automotives areas.

We are looking forward to setting up business relationship with you and hope to provide you with the best service
and solution. Let us make a better world for our industry!

Contact us

Tel: +86-755-8981 8866 Fax: +86-755-8427 6832
Email & Skype: info@chipsmall.com Web: www.chipsmall.com
Address: A1208, Overseas Decoration Building, #122 Zhenhua RD., Futian, Shenzhen, China

iy [0



4 3 fa 1
THIS DRAWING IS UNPUBLISHED. ‘ RELEASED FOR PUBLICATION 20 REVISIONS
<:> COPYRIGHT 20 BY - fLURIOHTS RESTRVED. P LTR DESCRIPTION DATE DWN APVD
BE A INITIAL 05JAN2015 | GY cw
] T—
Al ECR-15-004309 24MAR2015 | GY cw
B ECR-15-013759 265EP2015 | DW | CW
(& .\
4¢} : “’Aq} B ECR-16-011988 27AU62016 | YC cw
0 s '?/ z
Q N A B
1| NOTES :
7‘@* | . TECHNICAL CHARACTERISTICS:
~ INSULATION MATERITAL: PC
RATED VOLTAGE: 500V
24X M3 SCREW,RECOMMENDED M4 SCREW,RECOMMENDED RATED CURRENT: 16A
TIGHTENING TORQUE 0. 5Nm TIGHTENING TOROUE 1 2hm INSULATION RESISTANCE: >=400M()
cAR MIRE, REGRAEO . oNm MARE, BAGRAE] . ZNm RATED IMPULSE VOLTAGE: 6KV
i Nl POLLUTION DEGREE: 3
‘ FLAMMABILITY: UL94V-0
— MATING CYCLES: 500 CYCLES
ol ‘M WIRE RANGE: O0.5mm2~2.5mm2 (AWG20-AWGI 4)
i 7r—f CONTACT TYPE: SCREW CLAMP (M3)
od OMF
) 1&b oV AR
Y — E | HASY
| wgits . PC
4% M3 SCREW,RECOMMENDED ﬁi%&: 500V
TIGHTENING TORQUE O.5Nm HreEm: | o6A
4X M3B%  ##4%4%0 . 5Nm gl >=400M0O)
\ g oKV
VUL 1L _JT 0T 61780 LI 9H1 A - gﬁg Suazw ,
0 0 ke i
QE@?@E@?@@@?@@@?@@@?@B@ s gog }K'? 2.5mm2 (AWG20-AWGI14)
~ | XA ST P ST Al SN\ | BLILE .omme~7 . 5mm -
o ?ﬁm%m%ﬁm%&eﬁfﬁm&ﬁm%ﬁﬁm% Bo AR BuEE (M3)
NN ONEONE)ONE
0 fﬂj 0
2 10168L99v&‘.zu.l -
|
104
5 95 _ 4XP 3.3
TYPE |,72040242201-000,WITH LOGO
| i #8 |, 72040242201-000,%L0OGO
_(P_ 1 _I ]L
B |
N e———— - — - — - - @ T5AUG20 14
N | —| & THIS DRAWING IS A CONTROLLED DOCUMENT. nglNO VA0 . -
CHK
15AUG2014 - TE onnecTiviTy
d}_ ! d}_ Kﬁ DIMENSIONS: mﬁﬁﬁg%%&%h?$. A&bRIS WAN?SAUGEOWA NAVE
N | B mm ' XTANG XU HE-0?24-F
1 0 PLC 4- PRODUCT SPEC
! 1 PLC +-
L 104 # @E poe 108-137044
i Etg i: AP Teation sree SIZE CAGE CODE | DRAWING NO RESTRICTED TO
PANEL CUT FOR [NSERTS FOR USE ANGLES - 114-137044
WITHQUT HOODS/ HOUSINGS WATERTAL N ETGHT : A 3j00T79(C=T2040242201000 -
g b 4P 50 2 Bt 6oy 22 FEFLE S — =
- - CUSTOMER DRAWING 1o [ % B

1470-19 (3/13)




4

THIS DRAWING 1S UNPUBLISHED.

RELEASED FOR PUBLICATION 20

(C) COPYRIGHT 20 BY -

ALL RIGHTS RESERVED.

L

0

e\
A\
/A4
A\A
\"/j

9
()

D)
2

S
7
4

1)

©
N4

o
&

S
Q)

(
-©

v

(0)

S
©
4

1)

D)
o

AN
&)
@
&
A)
)
@
&

@A)
Y
@

D)
S

S

S

1 01

6

~
e
L2
b
(32
o]

? |
REVISIONS
p LTR DESCRIPTION DATE DWN APVD
SEE SHEET 1
NOTE :
ALL SPEC REFER TO TYPE |
A
paRESAESE TYPE |
TYPE 2,7T2040242201-001 ,WITHOUT LOGO
ZA 2 72040242201 -001, &L OGO
i i . HE-024 FEMALE INSERT
T2040242201-000 HE-024-F HE-024 &8 TYPE 1
i i . HE-024 FEMALE INSERT,WITHOUT LOGO
T2040242201-001 HE-024-F HE-024 &8 £L0GO TYPE 2
PART NUMBER PART DESCRIPTION TYPE
W o2 B % B
THIS DRAWING 1S A CONTROLLED DOCUMENT. |OWN 19AUGZ2014
CH%INO TAQ 15AUG2014 () TE TE COﬂﬂeCMva
PIMENSTONS: OTHERW 1< SPECIT1ED: A£ERIS WAN?5AUGEOW4 NAME
mm X TANG XU HE-024-T
0 PLC 1. PRODUCT SPEC
@E}{::::}; o1 108-137044
3 PLC +- APPLICATION SPEC
iNgtég +- . ww 477w 3—70 414 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
MATERTAL FINISH WEIGHT - A300779@:T2040242201000 -

CUSTOMER DRAWING

SCALE

SHEET OF

o] [

REVE%W

1470-19 (3/13)




	Contact us
	Sheet 1
	Views
	new_view_1
	top_2
	bottom_6
	new_view_8
	right_11


	Sheet 2
	Views
	new_view_13
	new_view_14
	top_15
	bottom_16
	right_17



